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| X| 3020 | 16 1 v)| 102516, | x v 3020
16
5000 [ | 0
[ 2,100,000
10ha ( 0.25 0
050 525000
R 045 41,310,000 | 33,500,000
' 38,190,000 | 30,990,000
0.40 49,120,000 | 35,690,000
' 37,170,000 | 30,180,000
41510,000 | 32,370,000
39,520,000 | 35,640,000
193,966 VA 30,280,000 | 30,280,000
0 0 33,700,000 | 28,640,000
3
/ 35,566 Icn Y1) 102516 0
/ 0.001 132,000
/ 44,000,000 0
0 0
2,100,000
f 23,000 |3 [ 680,000
/ 3,600
0
I ‘e 0
9,400 5,300,000
/ 415566
0
0
/ - 140,000
0
0 0 / 3,700,000 l Y2) 102516 |
(A) 545 a 1=4(A+B)/5= 604
(B) 210 a 2=10A/9= 606 20
755 (X) 302.0 45%

50%



A 545.000
B 210.000
(A+B) 755.000
| (B/(A+B)) 0.279
o
A’
F
(A™+B") 755.000
(A™) 545.000
(B") 210.000
H
H21
' B" A"=A B"=B H=A"+B"=A+B
(A+B) 755.0

@ >

4/10*(A+B)

302.000

5/9*A

302.778

302.000

+ (AtB)

0.400

5/8*A

0.000

302.000

= (A%B)

0.400

A (A-A"+9/8*A"

302.000

302.000

302.000

+ (AtB)

0.400

+ (A+B)

0.400

302.778

= (A

0401

x F+ x H

0.000

302.000 |

302.0

0.400




24 25 26 27 28
150 10 140
125 55 50 20
16 16
4 4
250 70 180
545 0 145 240 160 0
24 25 26 27 28
180 180
25 25
1 1
4 1 1 1 1
210 181 1 26 1 1
755 181 146 266 161 1
24.0% 43.3% 78.5% 99.9% 100.0%




10,000

150 24 24 180 10 170 10,000
160,000
4,000
800 26 26 25 4 13 8,000
13,000
24 28 1 1 1,000
24 27 4 4 4,000




m m m
255 9 9 3 150 25 27
150 8 8 2 50 25
330 9.5 9.5 2.5 75 25 27




440 16 9
2,900 120 16 14
32 23
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